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f=1; % JEEL

t=0:1/360:1; % 056 1 FT% 360 %5 L TRALTWL
x=sin (2*Ypi*f*t); % IEGEIE % AR
plot(t,x,’Time(sec)’,’Amplitude(v)’) % 1B %E 7m >y b
Ts=0:1/100:1; % 016 1 FT% 100 %55 L TRA

xs=sin (2%%pi*f*Ts); % IEGEIE % AR

plot(Ts,xs); % L% ZE 7y b

t=0:1/100:2%%pi; %06 2w ETE 100 %5 L TRA
x=5*sin(t); % BRI E x ITfUA

plot (t/2/%pi,x); % IE%HZz 7'a vy b

% Y 72fH% nn ITfUA
plot(t(1:19:nn)/2/%pi,round(x(1:19:nn))); % wI{LLT7uv b
\\ stem(t(1:19:nn)/2/%pi,round(x(1:19:nn)));

grid on;
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f=1;

w=2*Ypi;

t=0:1/360:3;

x=cos (w¥t)+2*cos (2*xw*t) +cos (3*w*xt)+2*xsin (w*t) ;
plot(t,x,’Time(sec)’,’Amplitude(v)’);

Ts=0:1/10:3;

xs=cos (wxTs) +2%cos (2*w*Ts) +cos (3*w*Ts) +2*xsin (w*Ts) ;
plot2d2(Ts,xs);
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f=1;

w=2%Ypi;

t=0:1/360:3;

x=1+3*cos (wxt)+2*cos (2xwxt)+cos (3*xwxt)+2*sin (w*t) ;
plot(t,x,’Time(sec)’,’Amplitude(v)’);

Ts=0:1/10:3;

xs=1+3*cos (wxTs) +2*cos (2*w*Ts) +cos (3*w*xTs) +2*xsin (w*Ts) ;

plot2d2(Ts,xs);
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f=1;

w=2%},pi;

t=0:1/360:3;

x=1+3*cos (wxt)+2*cos (2xwxt)+cos (3*wxt)+2*sin (wkt) ;
plot(t(1:16:100) ,round(x(1:16:100),’Time(sec)’,’Amplitude(v)’);
Ts=0:1/10:3;

xs=1+3*cos (wxTs) +2*cos (2*w*Ts) +cos (3*w*xTs) +2*xsin (w*Ts) ;

plot2d2(Ts,xs);
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fi(t) = coswit &, faot) = coswat DT INGH %, 1[sec] ERL, 7
0y b L7, w = 1k[Hzlws = 10k[Hz] £ L, ¥ 7V ¥ ZTkEIZ 0.01m[sec]
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£=1000; % AP 1kHz
w=2*Ypi;
t=0:1/100000:1;

x=cos (wxtx*xf) ;

plot(t,x);
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£=10000; % JEEE 10kHz
w=2*Ypi;

t=0:1/100000:1;

x=cos (wxt*f) ;

plot(t,x);
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